ooooon

goooodg

2009/02/06

1. J00b0b0obo0ob0. boboooboobooooooboobooDbo.
Oad0OO0O

ObOOOOO

UcOODOObDODOD

2. 0000000000
Dad0000 f(¢)0 Fourier 00 F(w) 0 F(w) = F*(—w)00000000000000*00000

oooo
Ob0OODO0OO0O0O00OOO0OO0ONONOONDNONOO0O000000NND jO000000000
(p—2)(p+1)
H(p) = — . (1)
p+1-=7)+1+5)(p+3)

OcOOODOOOOO

AU (t)

= st 2

& () (2)

0000000000000 00OU(H) 0000000000000 OUDMt)D dUDOUDOD

ooooo
1 (t>0)

Ut)=<1/2 (t=0) (3)
0 (t<0)

3.00000 s() 0000000000000000000000 as(t—t) 000 n(t)00000
y(t) = s(t) +as(t—to)+n(t) 00000000000« 000000000000 10000000
000t O00000000000000000000s(¢),n(t)00000000000000000
0000000000 ¢ss(7), bnn(r)0000000000 Sw),Nw)DOOODODOODOOOD
0oo
ODaly(t) 0000000 ¢,,(r)00000
ObOy(t) 000000000 Y(w)ODOOODO
OcOy(t) 00 s(t) 00000000 Wiener 0000 A(f) 0000000000000000000

0oooooooo



